
fvrl\lr,F**tr{ *"*&t1$*}$r'A.b$*** g \ds*$!ll}-s"$el*s3H.e}[g f"t pffi-d5rew*!t/4s11a[ll,E

t{ffi ffi',cli ffi ["rdl H,,e;Y- m [fl-][-"dh-H *ift S-t
$"'. {J} $$ {:.} }f-..\ C\ .f-a. l* ffi |:' }${ f.'t 1" i {: $4: d\

c'orJIAcoBAHo 7/vt PEKl'oP ulmo.nht "nt '/k
fiplreA{

IrHtutl

,'
DA3ACJI J'& pet1 SnmAt Btrrxoa ueHa HHAJI 6enru )nlrpbr yIJleB0rll'l

l

$IC]NJTATHbIil SASTPAK

I-,t Kfi

Nr2/ I 3

I{l3071 I 3

rop.6lrcar: T"fK
;i

fcp.Hafilrrcx ]'fs58?/ I 3

xre6 6e.'r TTK

xre6,repu l-I"K

}A$TBAK ':

nCIHE[nJrbHI4K I I HcflEp,S ?0?4 r.

Mr:.noro Bl.rrahtHHH3!tpc)Ba|{Hoe

$aconanuoe
Cutp roep,lt,tt:t

Olunet uar;.pa;rrlrr,r fi

Kaura uo.noquan ",{pyx6a", c
MACJ1OM CJU,IEST{HbIM

Kaxag Bntarlthur.$Bporrrlrtiile e

MOnOtroM

liaron nr.rtaiu ttttut,t lt c
M rr NpoHyEp r.re lrTanr !l

X.rrc6 pxanoFr

Carp rnepaultr
Olr,rer naryparlnrtfi
K11ur ivoro,rnan,'/l,pyxiia,', r:

NtacJlolvl Cll ltB0ri lll,lM

Kaxao euraru !,rHKsHpoBaHHoe c

MOJIOXOM

HamH s$Tah{I{r{Irblfi c

Ml,rKpoHyrpHeuraMr.l

Xne6 pxauoft

Cyn xapro$erruttfi c 6o6onttun, c
MflCON{

"fe{rre"nn B coyce

ManapoHur ornapilbtq
Kanycra Knaruenllat rrh
Cox

Saron pt^trarcnggblfi c

MHKp0HyrpngHraMli

X.'re6 pxaneri.i

3ediup

6yxo.rxa
t{afi s

200

lf

53

?0015

?00

i1+l

IU

?q

53

200i 5

10n

36

20

t5/750

75/50

180

100

200

II

20

58,00

90,81

104,00

771,0A

r 3?,00

r r7,60

42,00

2,80

61\

6,3 I

2.90

3,36

I,40

.1,20 4,10

1,42 0,00

8,75 1.00

15,00 33,7.l

?,50 :4"*0

0,84 :i,q4

0,20 8,6U

J,{!?/} 3

&307i ll
TI'K

NsS82/1 3

1"I'K

TTK

)1r 165/ i 3

Jtfi402i I 3

N!46.al I l
TTK

l{!38w1?

TTK

I tk

2 l,t)6
r7,88

I | 57

17,t8

8?1,43

9{i,83

1i)4,00

277.40

132,00

98,00

42,0i)

?832 37,91 96.75

6,13 7,42 0,lx)

5,30 8,75 I ,(.)il

6.31 15,00 33,71

2,90 2.50 24,80

ro;:.6r m;{o

rop.Hirnur0x

ile6 Sen

xle6,repu

$$EA

1 Ssm"rro

I 6lrolo
rapuFrp

gOn.r&pHltp

FI&NI{TOK

x.ne6 6e.n

xneS'repu

ITOJIA}IT{K

MYll'l{3Asjll{€

l*ailFtToK

5.56 2,80 0,70

0.20

I9,q5

8.601.75 1.40

)? (n

1-) t 1

9,95

1 1.96

l6,98

1.74

743,83

19?,20

195,00

2i9,00
23,0t)

l?0,00

't't 60

4? On

l?,30

1 6,10

6,30

1,80

1,4{)

0,96

I,40

r 3,86

I 3,00

8,70

0,10

0,:0

0,?4

0.?0

18.s0

8.10

3l.?0
1.00

2f:,40

6"tt4

8,6{)

24,84 34,57 8S,i)6

t_ /:)

.l\rb633l t 3

w?6il?

4S

r00
?OB

r02.00 844.80 40,26 36,30 105,{{

0,39 0,00 38,40

6,70 12.60 55,40

0.0? a,$2 15.0CI

1.t,48

8,30
1 "))

t48,46

36?,00
60,00

25,0i)

JTI4PIKTOP M}N KN KArrbHyJr.nroP W
TIXHOJIOI' t

//*,/
d

3AB. NP-OM

15,0t)


